
Time: 10 Minutes Paper Science 8 Total Marks: 10

3rd Month, 4th Week, 5th Day Syllabus: Unit # 6 Exercise

Q.No.1 Encircle the correct answer from the following choices. (0.5 <<<< 6 = 3)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX
i. The products of reaction between zinc and dilute sulphuric acid are:

iiii7777----ZZZZzzzzggggeeeeZZZZ™™™™^̂̂̂ËËËËgggguuuuZZZZŒŒŒŒÆÆÆÆŠŠŠŠggggxxxxyyyygggg~~~~ZZZZ½½½½ÅÅÅÅ6666,,,,zzzzeeee„„„„÷÷÷÷::::

(a) Zinc oxide & water i7-W‚[+Zzg0*ã (b) Zinc sulphide & water i7-Ï[+Zzg0*ã
(c) Zinc sulphate & hydrogen i7-ÜZzg;[+gzX (d) Zinc sulphide & hydrogen i7-Ï[+Zzg;[+gzX
ii. Which of the following is an unbalanced chemical equation?

ZZZZyyyy~~~~ÐÐÐÐÃÃÃÃyyyyÏÏÏÏ))))ááááZZZZiiiiyyyy6666ðððð))))zzzzZZZZ]]]]ìììì????
(a) CH4 + 2O2 ----� 2H2O + CO2 (b) Na + Cl2  ----� NaCl

(c) C + Cu2O ----� CO + 2Cu (d) C + O2 ----� CO2

iii. The thermal decomposition of calcium carbonate produces a gas:

yyyy»»»»gggg1111,,,,MMMMÅÅÅÅêêêêïïïïeeee~~~~ììììiiiiccccÐÐÐÐ’’’’kkkk����ìììì::::
(a) Oxygen gas ’ ÒŠnrà W (b) Carbon dioxide »g0eZðW‚[+
(c) Nitrogen gas **>zX’ (d) Carbon monoxide »0ñâW‚[+
iv. How many oxygen atoms are present in one molecule of Mg(HCO3)2?

ÆÆÆÆZZZZqqqq----ââââÅÅÅÅ5555½½½½3333ðððð GGGGGGGGwwww~~~~ÄÄÄÄWWWWxxxxZZZZÅÅÅÅññññ����ŠŠŠŠƒƒƒƒDDDD÷÷÷÷???? Mg(HCO3)2

(a) 2 (b) 4 (c) 6 (d) 8

v. The reaction between calcium oxide and carbon dioxide to form calcium carbonate

is an example of: yyyy»»»»gggg1111,,,,MMMM¯̄̄̄ääääÆÆÆÆaaaayyyyWWWW‚‚‚‚[[[[++++ZZZZzzzzgggg»»»»gggg0000eeeeZZZZððððWWWW‚‚‚‚[[[[++++ÆÆÆÆŠŠŠŠggggxxxxyyyygggg~~~~ZZZZ½½½½VVVVwwwwìììì::::
(a) Addition reaction Zi+cg~Z½ (b) Decomposition reaction e~ìicg~Z½

(c) Acid base reaction ZŒäg~Z½ (d) Neutralization reaction ER,ZÑ̂,cg~Z½
vi. Which of the following is a balanced chemical equation?

ZZZZyyyy~~~~ÐÐÐÐÃÃÃÃyyyyÏÏÏÏááááZZZZiiiiyyyy6666ðððð))))zzzzZZZZ]]]]ìììì????
(a) Fe + 3Cl2 ----� 2FeCl3 (b) Fe + 3Cl ----� FeCl3

(c) 2Fe + 3Cl2 ----� 2FeCl3 (d) Fe + Cl2 ----� FeCl3

Q.No.2. Write short answers.    (2 <<<< 2 = 4) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX
(i) What are products? 6,ze„H÷?

(ii) What is the different between exothermic reactions and endothermic reactions?

Z;êîg~Z¶ZzgZhêîg~Z¶ÆŠgxyH�Ûtì?
Q.No.3. Write long answer.      (3) ----����ZZZZ[[[[KKKKXXXX
(i) How combination and decomposition reactions are related to each others?

JJJJVVVVZZZZzzzzggggeeee~~~~ììììiiiiccccgggg~~~~ZZZZ¶¶¶¶ZZZZqqqq----ŠŠŠŠzzzzuuuu}}}}ÐÐÐÐùùùùmmmmggggnnnnpppp÷÷÷÷????
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